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Articulate, Articulates, Articulated, Articulating Quiz
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. Arthur is the most of the brothers.
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speech is essential for a teacher.
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your words so that we can understand what you are saying.
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. She was too frightened to

. Articulated
. Articulates
. Articulate

. Articulating

o0Ow>

6. The two bones are like a hinge.
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B. Articulated
C. Articulating
D. Articulate

7. They often have skeletons, soft tissues, colour patterns, stomach contents, and twigs with
leaves and flowers still attached.

A. Articulates
B. Articulating
C. Articulated
D. Articulate

8. This second fossil is more complete and better

A. Articulates
B. Articulate

C. Articulated
D. Articulating

9. An example of a biomaterial which has a high resilience is articular cartilage, the substance lining the
ends of bones in joints such as the knee and hip.

A. Articulate

B. Articulated
C. Articulates
D. Articulating

10. He was so drunk that he could barely his words.

A. Articulating
B. Articulates
C. Articulate

D. Articulated
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Answer Sheet

Name: ......coooiviiiiieeen. Class: ..oooveeeiiiiieeees Date: ...,
1®B600 6.®OCO
20600 7.®00
3600 8.A®OO
43600 .60 0
50®00 10600
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